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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.

. This paper consists of one h (100} multiple choice type of questions. All questions are compulsory.

. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily exarnine it as below :

{i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

{ifi) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked {4), (B), {C) and (D). You have to darken the oval as indicated beliow on
the correct response against each item.

Example: (A @ (> (DD where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper - Il only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive lan e or em?lo any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc,, are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

GEOGRAPHY

Paper - 11

Which type of rocks occur in Kutch and
the north-eastern part of Kathiawar
on the Dhrangadhra plateau ?

(A) Jurassic

(B} Pre-Cambrian

(C) Cretaceous

(D) Pleistocene

What are the remains of hard rock

sometimes left in the middle of river
erosional plain called ?

(A) Bajad
(B) Zoess
(C) Monadnock
(D) Sand dunes

. Which one of the following is

NOT associated with chemical
weathering ?

(A) Oxidation
(B) Exfoliation
(C) Carbonation
(D} Hydration

. Which of the following seismic waves

are the fastest ?
(A) P waves
(B) S waves
(C) L waves

(D) Tsunamis
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5.

. The life cycle of

Which one of the following Oasis is
NOT correctly matched ?

(A) Huacachina - Peru
(B) Tafulat — Morocco
(C) Taghit — Algeria

(D) Absa — Libya

Which one of the following is NOT

a correct statement related to

Lithosphere ?

(A) Lithosphere means Rocksphere’
because of the dominance of solid
crystal rocks on almost all of the
continents

(B} It covers about 40% surface area
of the earth

(C) It consists of crust and outer
most part of upper mantle

(D) It is derived from Greek word

. Merry-Go-Round is an example of

which of the following ?
{A) Gravitational force
(B) Upthrust force

{C) Hadley’s cell

(D) Coriollis force

energy is
relatively environment friendly.

(A) Solar energy

(B) Wind energy

(C) Thermal energy
(D) Geothermal energy
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9.

10.

11.

Malnutrition in the elderly is a result
of which system disorders ?

1. Intestinal
ii. Endocrine
iii. Respiratory

iv. Musculary
(A) iand ii (B) ii and iii
(C) iand iv (D) ii and iv

Which one of the following is NOT
correct ?

(A) A deep crack in the upper
surface of a glacier is known as
crevasse

(B) The outermost shell of the earth
is known as crust

(C) The slow downslope movement of
rock is known as debris flow

(D) An earthquake that originates
from 300 km or more is known
as deep focus earthquake

Floods caused due to outburst of
glacial lakes are referred to as Glacial
Lakes Outburst Floods (GLOF). Take
into account the following factors

i. Un-predictable monsoon rainfall

patterns
ii. Earthquake event
ili. Long term land degradation
iv. Nature of the damming material

Which of the factors given above
can trigger GLOF ?

(A) i, ii and iii
(B) i, iii and iv
(C) iand iv

(D) i, i, iii and iv
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12.

13.

14,

Study the following characteristics of
tropical cyclone and state the cycle
of its development.

i. A warm sea temperature
of > 26°C

ii. High relative humidity of
atmosphere at a height
of > 100 meter

iii. Atmospheric instability

(A) Formation and initial
development

(B) Full maturity

(C) Modification stage

(D) Decay

In mid winter, a feeble high pressure
develops over the north western part
of India. What would be its influence
on the weather conditions ?

(A) A scorching winds {locally called
loo) would blow during the day
time

(B) Light and dry winds would blow
outward from this high pressure
area

(C) There would be torrential rains
brought by thunderstorms

(D) The northern plains would
become hot

What are ‘cloudbursts’ ?
(A) High intensity of rainfall
(B} Extreme form of thunderstorm

(C} Down pour of cloud without
lightning

(D} Localized weather phenomena
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15.

16.

17.

18.

In tropopause the highest
temperature at poles is
(A) -46°C

(B) —25°C

(C) +06°C

(D) +39°C

What is the average rate of Albedo on
the earth ?

(A) 25%
(C) 20%

(B) 30%
(D) 40%

5°-30° latitudes in both the
hemisphere is

(A) Low pressure boundary
{B) Persistent easterlies
(C) Cool easterly winds
(D) High pressure boundary

Statement 1: Fog starts disappearing
with sunrise in the morning.
Statement II : Tiny water droplets
suspended in the air are evaporated
in the morning.

(A) Both Statements are true and
Statement II is the correct
explanation to Statement I

(B) Both Statements are true and
Statement II is not the correct
explanation to Statement I

{C) Statement I is true and
Statement II is false

(D) Statement I is false and
Statement II is true
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19.

20.

21.

Identify the correct sequence.

{A) Troposphere — Stratosphere -
Mesosphere — Thermosphere

(B) Stratosphere — Troposphere -
Thermosphere — Mesosphere

(C) Troposphere — Mesosphere —
Stratosphere — Thermosphere

(D) Stratosphere — Mesosphere -
Thermosphere — Tropopause

State which of the following statements
related to Hurricanes are incorrect.

{A) They are the most powerful
destructive tropical cyclonic
storm

{B) They affect the coastal areas of
south and south eastern Asia

(C) They affect the south and south
eastern USA

(D} The move with an average speed
of more than 120 km per hour

The following statements are related
to ocean currents
i. The temperature of the eastern

coast of Siberia becomes low due
to Kurile current

ii. The Gulf stream raises the
temperature near the western
coasts of Europe

iii. Labrador currentlowers down the
temperature near the north-east
coast of North-America state.
Which of the above statements

are true ?
(A) iand ii (B) ii and iii
(C} i and iii (D) i, ii and iii
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22. What is the sharp change of

seawater temperature between
200 and 1000 m known as ?

(A} Pycnocline layer
{(B) Thermocline layer
{C) Phytic zone

(D) Halocline layer

23. The ocean salinity is derived from
which of the following sources ?

i. Chemical weathering of
continental rocks

ii. Degassing by the earth
iii. Atmospheric and biological
interactions

(A) i and ii
(B) ii and iii
(C) iand iii

(D) i, ii and iii

24. Arrange following oceans in the

decreasing order of their percentage

of continental shelf areas.
i. Indian ocean
ii. Atlantic ocean

iii. Pacific ocean

Select the correct answer from the

codes given below :
(A) ii, i, ifi
(B) ii, iii, 1
() iii, i, ii
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25.

26.

27.

Consider the following statements.

i. The highest temperature of
surface water of the oceans is
at 10°N to 12°N latitudes

ii. The average annual temperature
of Indian ocean is 20.6°C

iii. The lowest surface water
temperature of ocean is
recorded between 80°N and
north pole and between 75°S
and south pole

Which of the above statements
is/are NOT correct ?

(A) i and iii

(B) ii and iii

(C) iand ii

(D) 1i, ii and iii

The slope of the continental slope is
how much ?

(A) 2 fathoms per mile

(B) 3 fathoms per mile

(C) 5 fathoms per mile
(D) 8 fathoms per mile

Tsunamis are usually NOT noticed
as massive ocean waves because

(A) They travel through shallow
waters of continental shelves

(B) Their epicentre is far away from
the coast in deep ocean waters

(C) They have a low magnitude and
intensity

(D) They move and die in deep ocean
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28.

29,

30.

Consider the following statements.
i. There are no trenches found in
Indian ocean.

ii. Seychelles Ridge divides Arabian
sea into two parts.

Which of the above statements
is/are incorrect ?

(A} Only i

(B) Only ii

(C) Both i and ii

(D) Neither i nor ii

Thermal expansion, compressive
effects and addition of dissolved
substances factors affect which
of the following ?

(A) Temperature of ocean water
(B) Salinity of ocean water
(C) Density of ocean water

(D) Thermocline layer of ocean
water

Statement I : Alternate stripes

of positive and negative magnetic
anomalies are found on either side
of the mid-oceanic ridges.
Statement II : The geocentric axial
dipole magnetic field represents

95 percent of the earth’s total
magnetism.

(A) Both the Statements are true
(B) Both the Statements are false

(C) Statement I is explanation of
Statement II

(D) Statement II is explanation of
Statement I
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31.

32.

33.

Which one of the following with
reference to net primary productivity is
the correct sequence of ecosystem ?

(A) Open Ocean — Savanna — Coral
Reef — Tropical Rain Forest —
Estuary

(B) Tropical Rain Forest — Coral
Reef —» Open Ocean -» Savanna
— Estuary

(C) Coral Reef — Tropical Rain Forest
— Estuary —» Savanna - Open
Ocean

(D) Coral Reef — Estuary — Tropical
Rain Forest — Savanna — Open
Ocean

Which of the following is the basic
structural and functional unit of
ecology ?

(A) Ecotone

(B) Ecosphere
{C) Ecotype
(D) Ecosystems

Which one of the following is an
incorrect match ?

(A) Colluvial soil - Lack of
stratification

(B) Aeolian soil - Weathered material
transportation by gravity

(C) Alluvial soil - Weathered material
transported by running water

(D) Glacial soil — Lack of
stratification
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34. The term ecology was introduced by
(A) Maeckel
(B) Odum
(C) Transley
(D} Ramdeo Mishra

35. ‘Inter Governmental Panel on Climate
Change’ (IPCC) has predicted an
average global rise in temperature of

between 1990-2100.

{A) 1°C to 2.8°C
(B) 3°C to 3.8°C
(C) 4°C to 5.8°C
(D) 6°C to 7.8°C

36. Which of the following dates is
marked as ‘Ozone Day’ ?

(A} 16% September
(B) 16t November
(C) 21% December
(D) 25%* February
37. The ground water recharge rates

would be highest in which of the
following plains of India ?

(A) Lower Narmada
(B} Lower Mahanadi
(C) Bengal

(D) Rajasthan

38. Name the organism that removes
last energy from the remains of

organisms.
(A) Algae (B) Ants
(C) Carnivores (D) Bacteria

34.

35.

36.

37.

38.

‘B5IA%’ AGE 5Bl Yefel sAl &cll?

(A) HasA
(B) 3llsH
(€) allcl

(D) Axta B
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53l B,

(A) 1°C to 2.8°C
(B} 3°C to 3.8°C
(C) 4°C to 5.8°C
(D) 6°C to 7.8°C
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39.

4]1.

Photoclinal smog is caused due to the
action of which of the following ?

i. Nitrogen dioxide
ii. Hydrocarbons
iii. Sunlight
{A) i andii
(B) ii and iii
(C) i and iii

(D) i, ii and iii

Ozone gas concentrated between
height above the surface
of the earth.

(A) 10 to 15 km
(B) 15 to 20 km
{C) 20 to 25 km
(D) 25 to 30 km

Statement I : Relative humidity
decreases with increasing air
temperature.

Statement II : Absolute humidity
increases with increasing
evaporation.

(A) Both Statements [ and II are
correct and Statement II is the
correct explanation to Statement I

(B) Both Statements I and II are
correct and Statement II is not
the correct explanation to
Statement I

(C) Statement I is true and
Statement II is false

(D) Statement I is false and
Statement II is true

9. ‘SlaAscllotd vlor W2 o{lAou U4l 53

YRoln FUHER B ?
i. sllfglaet SLIASUBS
ii. elefslsiola
iii. Yalysol
(A} i and ii
(B) ii and iii
(C} i and iii
(D} i, ii and iii

40, yecll quwdlell 3ecll Gusal At AY

o Yodlsel adg B?
(A) 10 to 15 km
(B) 15 to 20 km
(C) 20 to 25 km

(D) 25 to 30 km

41, Quot I :&clloll dlUHLet cticilell A1

WS Blscll Hi e2Lst a8,
Qutet I : yuflotaet aticitedl wd
(A0l wigcttdl qrud s D,

(A) 4 (Aot I Mo qiul B Quet 11
A Qe I of WY wdlsw@ 52 B

(B) “A [Atlet I wal [Qtitet IT R WA B
[Qetiot 1T A [Qtutet [ of Aty w5l
53 a2l

©) Quist I WY 8w Qs WG B
(D) [Qeuet I wig B ual [Atutet I Y &




42.

43.

45.

According to Christaller’s theory of
Central place K = 4 refers to

(A} Market principle

{B} Transport network

{C) Administrative control
{D) Commercial activities

Age and sex composition, degree
of urbanisation and duration of
marriage are prominent factors
that control

(A) Morbidity
(B) Mortality
(C) Fecundity
(D) Fertility

The per capita birth rate of population
is known as

(A) Mortality

(B) Natality

(C) Population density
(D) Carrying capacity

The most significant feature of 2011

census is

(A) Unique Identity Number (UID)

(B) De facto method of data
collection

(C) De jure method of data
collection

(D) Digitisation of data collection

. Which of the following is at the

highest order of hierarchy ?
{A) Conurbation (B) Tyranopolis

(C) Megapolis (D)} Nekropolis

42.

43.

45.

46.
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(B} HYER
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(D) U¥elot BHAl
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(C} el olluct
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47.

48.

49.

50.

The law of Primate city was first
proposed by in 1939.

(A) Mc Gee
(B) Sjoberg
(C) Patrik Geddes
(D) Mark Jefferson

The expansion of the big city results
in the development of new which of
the following ?

(A) Satellite settlements
(B) Twin cities

(C) Conurbation

{D) Industries

is obtained by summing
up the age specific birth rate and
multiplying it by number of years
in age interval.
{A) Crude birth rate
(B) Standardised fertility rate
(C) Total fertility rate

(D) Age specific fertility rate

Of the three major components of

population change, migration is the

most difficuit to conceptualise and

measure because it is

(A} A simple biological event

(B) A physical and social
transaction

(C) A movement between
boundaries

(D) Not measurable

47.

48.

49.

50.

8.4.1939 1l e dlélell vauie Al
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51. Statement I : India is rich in
thermal and photovoltaic energy.
Statement II : The Himalayan

Region is well endowed with plenty
of solar energy.

(A) Both Statements are true and
Statement II is the correct
explanation to Statement I

(B) Both Statements are true and
Statement II is not the correct
explanation to Statement I

(C) Statement I is true and
Statement II is false

(D) Statement I is false and
Statement II is true

52. State which of the following principles
were identified by D. Whitllesey in
1936 for the delineation of agricultural
regions ?

(A) Intensity of land use and use of
machinery

(B) Building and other structure
and their relationship with
agriculture, management of
farm production, intensity of
land use

(C) Association of crops and
livestock, intensity of land use,
use of machinery, management
of farm production

(D) Association of crops and
livestock, intensity of land
use, management of farm
production, use of machinery,
building and other structures
and their relationship with
agriculture

51. Quia I:adc wa fANRS Gxinl
R 2 Uy B,

(ot 11 : Brucael YR ol yrsn ARG
Rl [z B.

(A) oiol [Atutell MUl & et [Atitot 11 A
Qeust 1 of 3y si|L e2ia B

(B) ol (Qtitoll A1UL D ol [Qutet T 3
(Qtutot T of A3y 1201 E2lald atell

(©) Qa1 Y & va [QAtlet 1 V1 &

(D) [Qutet 1W1E D wal [Qeiet T WY B

52. 5.1 1936 Hi $l. flecll L2l
s@AAA RMisat 1R {Atinigll su

Rl ALl v Sett A sRUAL

(A) e {latotl GUAIll dladt wa
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53.

54,

55.

Advances in electrical and heavy
engineering industry, exploitation
of steel alloys and heavy chemicals
is associated with which of the
following ?

(A) The first phase of the Industrial
Revolution which took place
between 1780’s and 1830’s

(B) The second phase of Industrial
Revolution which took place
between 1840’s and 1880’s

(C) The third phase of the Industrial
Revolution which began in the
last decades of 19" century and
upto World War |

(D) The fourth phase of the Industrial
Revolution which began in the
last decades of 20" century and
upto World War 11

Globalisation has resulted into which
of the following ?

i. End of cold war

ii. Change of scale in human
processes

Select the correct answer.
(A) Only i
(B) Only ii
(C) Both i and ii
(D) Neither i nor ii

Centripetal forces indicate which of
the following ?

(A) Umland Development
{B) Peripheral Development
{C) Decentralisation

{D) Polarisation

53.

54.

55.
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56.

57.

58.

59.

Counter urbanization refers

(A} Population migration from rural
to urban areas

(B} Expanding suburb

(C) Increased migration to rural

areas and small towns from
urban areas

(D} Urban expansion

Who presented theory of cumulative
causation ?

(A) G. Mydral
(B) Isard

(C) P. Sengupta
(D) Perrox

Isomorphic relationship of population
movements with Newton’s law of
gravitation was pointed out by which
of the following social scientists ?

{A) Stewart
{B) Zipf

{C) Malthus
(D) Castro

Which of the following gas is
meteorologically important as it
is transparent to the incoming
solar radiation but opaque to the
outgoing terrestrial radiation ?

(A) Argon

(B) Carbon dioxide
(C) Neon

(D) Nitrogen

56.

57.

58.

59.
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60. Which of the following costs are fixed,
regardless of the length of haul ?

{(A) Line Haul
(B} Terminal
(C) Capital
(D) Fuel

61. The study of human and adaptation
to social and physical environments
is known as

(A) Cultural ecology
(B) Natural ecology
(C) Water ecology

(D) Mountain ecology

62. Who introduced concept of Rimland

theory ?

(A) Carl O. Sauer
(B) Karl Haushofer
(C) Spykman

(D) Mackinder

63. Which one is not concerned with

Etiological conditions ?

(A} Study on fields of biology and
medicine refers to causes of a

disease

(B) Study of the cause of the disorder
comes within the body

(C) Study of metabolic or endocrine
disorder

(D) Study of general disease in

60. Scioll clotsal viaollal oA WSl s
otolcte(l (U GAR W@ B ?
(A) et 8led

B) el

(©) 3ea
(D) U

Hlolel vl def WHIBs wa ollds
a6l Uil WagCtol a ALl
ueAYRA sdal,

(A) Aislds WRRAQSs @stiet
B) wsdls WRRAAs Qsuat
(C) »n uRRAAs (Asltet

(D) uddla uRRARS [@stet

61.
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64.

65.

66.

67.

Social exclusion refers to

(A) Socially recognization
(B) Social marginalisation
(C) Socially active

(D) Social identity

ASEAN - refers to

(A) Asian South East Association
Network

{B) Association of South East Asian
Nations

{C) Association of School Education
for All Nations

(D) Association of Sea East Asian
Nations

Who out of the following was NOT in
favour of quantification in Human
Geography ?

(A) B. Y. L. Berry
(B} August Compte
(C) Kirk

(D) W. Bunge

The people in cold climate are stronger
physically, more courageous, frank,
less suspicious and less cunning
than those of warm climate was
said by

(A) Montesque

(B) Strabo

(C) Carl Ritter

(D) Haggett

64.

65.

66.

67.
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68.

69.

70.

71,

In ‘Eardkunde’ Carl Ritter advanced
the theory of

(A) Micro geography

(B) The North-West Movement of
civilization in Europe

(C) The North-East Movement of
civilization in Europe

(D) Unity in diversity in Geography

The sun warms the air on the

mountain slopes than air

in the valley during the day.
(A) Slower

(B) Faster

(C) Both (A} and (B)

(D) None of the above

The ‘Organic theory’ of state and
society was propounded by

(A) Ratzel

(B) Heltner
(C) Houshofer
(D} Brunhes

“The earth is an inseparable whole”
was contended by

(A) E. C. Sample
{B) Ratzel
(C) Carl Ritter

(D) Bowmen

68.

69.

70.

71.
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72.

73.

74.

75.

“Culture is a dominant factor in
human society.”
This statement explains

(A} Probabalism
(B) Probability
(C) Neo-Determinism

(D) Determinism

Who out of the following was NOT a
french Geographer ?

(A) Emmanual Martone
(B) Albert Demongeon
(C) Elise Reclus

(D) Albert Penck

Name a scholar who solved many
problems of orthographic projections
and trigonometrical and mathematical
problems.

(A) Ibn Battuta

(B) Al Masudi

(C) Al Battani

(D} Muhammeod al-Idrisi

Who prepared a map of the world to
scale with Greece at the Centre ?

(A) Hippocrates
(B) Plato

(C) Herodotus
(D} Anaxi Mander

72,

73.

74.

75.
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76.

77.

78.

79‘

According to Kant,

Statement I : The inhabitants of

torrid zone are industrious, hard

working and progressive

Statement II : The inhabitants of

Mediterranean region are lazy and

timid.

(A) Statement I is true but
Statement II is false

(B} Statement I is false but
Statement Il is true

(C) Both Statements are true
(D) Both Statements are false

“Man is the product of the Earth”
who expressed this view ?

(A) Huntington
(B) Demolins
(C) Ratzel

(D) E. C. Sample

The book of Geography in the 20t
century was edited by

(A) Geddes P.
(B) Martonee D.
{C) Taylor G.
(D) Stamp L. D.

Which of the following is NOT
correctly matched ?

(A) Arabs and jews — Semitics
{B) Inuits and Eskimos — Mongoloids
{C) Bantus and San — Negroids

(D) Melansians and Polynesions —
Caucasoids

76.

77.

78.

79 .
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80. Who said that Geography is an

81.

82.

83.

84,

Applied Science ?
(A) Gaddes (B) Ritter
(C) Von Humbolt (D) Whittelesey

Which of the following is related to
GIS?

(A) Euclidean space

(B) Ramanujan space
(C) Pythagorian space
(D) Mathematical space

Shuttle Radar Topography Mission
(SRTM) data is used to develop

{A) 2D Model
(B) Digital Elevation Model
(C) Rainfall Data Model

(D) Ocean Temperature
Measurement

What is Metadata ? It is
(A) Data about data

(B) Meteorological data
(C) Oceanic data

(D) Contour data

What would be the dimension of
correlation in the ‘Moderate Degree
of Correlation’ ?

{A) +0.90 and above
(B) +0.75 to +0.90
(C) +0.60 to +0.75

(D) +0.30 to +0.60

80. ol A As cacsllRs [Quia & Ag
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85.

86.

87.

88.

Bifurcation Ratio (Rb) is related to the
Branching pattern of the drainage
network. From the given table find
out the Rb for the VI order streams.

Stream order No. of Streams

I 392
11 92
Il 25
v 06
\ 02
\% 01
(A) 3 (B) 2
(€)1 {D) O

A sideway looking radar is an example
ofa

(A} Passive sensor

(B} Photographic sensor

{C) Thermal scanner

(D) Electronic sensor

Which is a fundamental task in image

processing used to match two or
more pictures ?

{A) Registration
(B) Segmentation
(C) Computer vision

(D) Image differencing

If you are studying the effect of
drought on vegetation, which
portion of the electromagnetic
spectrum would provide the most
potential data ?

(A} Thermal infrared
(B) Middle infrared

(C) Near infrared
(D) Red spectrum

85. [geuaet JRldR (Rb} 3a1% Azabell

86.

87.

ofoAoL Veod WA Boi@ld B. 2t
steesuiell viuiumy 2086 i mi
(eusxet 24RlldR (Rb) WM.

I 392
11 92
I 25
1\ 06
\ 02
VI 01
(A) 3 (B) 2
) 1 (D) 0

ueateall 2stR ol Aot Ul Sief GELEREL
8?2

{A) (A% aes

B) fAaulds des

(€ cnlla sucllas

(D)} FAsAAs dAES

o YARDGL L A B Al ay eNaya

Amctel W2 58 Yoo Ylda Heeau

a8 ?

(A) AL

(B) ANt

(C) e (et
(D) SR Bg:2{lot

exstnell URRA{Al astruld Gur adl
URCA WeAY sl M2 [Qgarusla
A290ell sall eudlefl HURAL el ay
Gull ug a3 ?

(A) et BeslRS

(B) Blscl 8e513S

€©) RaR 8esRs
(D) RS WM

Y




89. Statement I : Global positioning
system generally consists of a

constellation of 24 operational
satellites.

Statement II : In order to ensure
continuous world wide convergence
for GPS, six orbital planes of satellites
are organised and every four satellites
are placed in an orbital plane.

(A) Both Statements are true and

Statement Il is the correct
explanation to Statement I

(B) Both Statements are true and
Statement II is not the correct
explanation to Statement I

{C} Statement I is true and
Statement II is false

(D) StatementI is false and
Statement II is true

90. The marks obtained by 20 students
in Viva voce is given in the table find
out the Arithmetic mean.

Marks No. of
obtained Students f
x f
2 4 8
5 5 25
8 3 24
10 5 50
12 2 24
15 1 15
(A} 7.3 (B) 3.6
(C) 6.8 (D) 13.6

89. ([Auist I : ol WDallol Ren
L AlMerl 1A 24 QWU A

Aclleatl we oll uHALL 2w B,
(Quutet IT : GPS W2 At Qucdl
Asclol YRRA seal W2 © GuadA
olsclellMl et B, Batiell R
Guaslal As% ulell UHBISEUH
alail HeSN |

(A} cial [Auiell aa B, [Qutet 113
Qutot 1 oll Al 2t 53 ®

(B) ¢ial [Auuell it B, Qe 1A
(Qtaiot 1ol WAl 2urect 5 otell

(€) Qo T ALY B A Qe TVIE D

(D) [Qtet 1 B v [Atilot TAY B

90. (| Aot slresHl 20 [QeneRAAN AvAA
S Ut vel B, Bell sulldls
TERCIRET N

Hondd  (QrageQ00
HisA vl f
X f
2 4 8
5 5 25
8 3 24
10 5 50
12 2 24
15 1 15
(A) 7.3 (B) 3.6
(C) 6.8 (D) 13.6
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91. Saurashtra region has river | 91. AR YRl ysiRefl
pattern. ¥y Hlat 1A B.
(A) Parallel .
(A) UHidR
(B) Radial (B) A»aust?
(C) Trellis (C) gaus
(D) None of the above (D) GuRuigl Ut o1&l
92. Put the following states in 92. YcARAG Alol /EIR Lol Gl E ML
decending order in terms of cotton el cdet A% A Gl sHHI sl

yarn production.

(A) Tamil Nadu - Maharashtra —
Punjab — Gujarat

{A) ABLAALg— HBLRAR — UMt — ¥R

(B) Maharashtra - Gujarat -Haryana (B) MaLRAg—IwAct—sRaugu-seles
— Karnataka

(C) Gujarat — Tamil Nadu —~ (C) ArRAA-cttRctetg-Hrayta—ixo
Madhya Pradesh — Punjab

(D) Maharashtra — Gujarat —
Tamil Nadu — Karnataka (D) HSRIR-IAd~Atcag—seies

93. State which of the following 93. “8ldast olls 26A ool U ol
statements related to Indian Broad i el Y
Railway Gauge’ 1s/are true ? ol Aett US| 53] /5l (A el WA D 1
i. The distance between the outer i. et ulels{l sslRetl et BidR
faces of the pair of rails is 1.675 1.675 12z alaL
meters.
ii. The distance between the inner ii. edell Wetell AUER el @UINo] ViR

faces of pairs of rails is 1.675 1.675 {le2 At
meters., . :

iii. The Britishers constructed Broad L B2eits ud UG U ole A Asd
Gauge lines on Trunk routes 25 22 UR [MRaAN cisdty e
connecting the' p01.'t. cities and oitll s<ll.
some other major cities. )

(A) i and iii (A) 1 e iil

(B) ii and iii (B) 1i e iil

(C) Only ii (C) WA ii

(D) Only i (D) WA i
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94,

95.

Deserts, fertile plains and
thickly forested mountains are a
characteristic features of which of

the following parts of India ?

(A) South-Western border along

Arabian sea
(B} Coromandel Coast

(C) Western Border adjoining
Pakistan

(D) North-Eastern Frontier

State which of the following

statements related to Indian Iron

and steel Industry are false

i. The Hirapur Plant produces Pig

Iron and steel

ii. The Kulti plant produces only
steel

iii. The rolling mills are located at

Kulti and Burnpur
(A) iand ii
(B) ii and iii
(C) i and iii

(D) Only ii

94, AlRclell S edte(l cladlsc Hi

00, snagu Reloll ua ol
ol Uddl #lal HA B,

(A) vRo{l Wysa 513 WA A
URWE

(B) S1AMe5A ol Slatt

(C) wslcletal WSlal vl ulEln
UWE ol (AR

(D) St uWBEL

95. clldlal Alvis wal Wl Sesxdlott el

(1ot VYL 53 (Atuiot W B?

i {321y? wlloe lot 2412t Geust
52 B,

i. 5cdl wlted HIA WA Goudd 52 B.
iii. §E8l WA olelyui R-AAL
My wuadl B.

(A) i wa i
(B} ii 2w iii
(C) i wa iid

(D) A ii

S .
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96.

97.

Read the following statements
related to the location of iron and
steel industry.

i. High grade haematite iron ore

is available at a distance of
75-100 km.

ii. Coal is available at a distance of
160 to 200 km.

Kolkata is located at a distance
of 250 km.

State which of the following iron and
steel industries do they reflect ?

iii.

(A) Tata Iron and Steel Company
(B} Bhillai Iron and Steel Industry
(C) Rourkela Iron and Steel Industry
(D) Bokaro Iron and Steel Industry

Following are the locational factors

i. The basic raw material is heavy,
low value and weight loosing

ii. Silica and aluminium are
important ingredients
Ash of the burnt coal

State which of the following industries
require the above raw material for
their establishment ?

iii.

{A) Iron and steel Industry
(B) Aluminium Industry
(C) Fertilizers Industry

(D) Cement Industry

96.

97.

Aluls ol WA Gelole] et otssl
sal 2ot ¥ed o{1Aoll [Qtatell il
i. Guw salell RS2 Alvisell sl
I, 75-100 BAHle0t vid?
Gudoy 8.

ii. 160 2l 200 BelHleR ol 3R
Sl Guciod B.

iii. 250 (3cl{l22 ol R sldsial
A& A ©.

Guell Qe 56 sl Auls WA
Wl Gellol ot dedl A B ?

(A) 2lel BAal los WA Suell

(B) [@lcuss vl o5 WA Sos2dl
(C) 3¥CU vl Wos WA Sos53
(D) o512 iel o5 WA S5

ol galdct WRHE Gallotetl eltotoll
520t 8
i e, gl (Bucoll wal axel
LAl Haeld st HIA.
i RAs v weyRlAan yua
uzsl aaL.
iii. el sladlofl A,

GURs 5100 sl Graloledl
UM Y 2oi HALGUELR

URoiolt § 2

(A) clvis el ¥la Galot
(B) AMRAan Galot
(C) widR Gtallat

(D) RN Geallat
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98. The first match stick making
industry was set up in which of the
following city ?
{A) Ahmedabad (Gujarat)
(B) Bareilly (U.P.)
{C) Ambarnath (Mumbai)
(D) Dhubri (Assam)

99, In an ‘Thermocinal layer’

{(A) There is a rapid decrease of
temperature with increasing
depth

(B) There is a rapid increase of
temperature with increasing
depth

(C) There is a rapid decrease of
salinity with increasing depth

(D) There is a rapid increase of
salinity with increasing depth

100, The Indian drainage is broadly divided
into two major drainage systems on
the basis of the ‘Orientation to the
sea’. These include : Bay of Bengal
drainage and Arabian sea drainage.
They are separated from each other
by which of the following divide.

(A) Sutlej - Yamuna

(B) Ganga — Jhelum

(C) Beas — Ravi

(D) Chenab — Bramhaputra

98. (1ol UGl s AdHL A yun
(& cutoll otettcrcal GelloL eyl &l ?

(A) BHELALE (If¥RUcL)
(B) wircll (Grytal)
(C) AU (Hut)
(D) yoll (vun)

99, MU 2cARHL

(A) audl Gstes WA dtuHieAH] BsUl
welsl a8

B) adcl Gsief WA druntatHi »sUl
Al Al B

(€) attcdl GsleS A vgaHi »sul
y2lst a2 8

(D) atlcdl GsieS i wRlaul »sul
CHRETER

ARAHL wuRate yeudlel

A dRgell Zau ot BUR WR &
ol [Qeu@Bd sl 1A B As
oboUell VLSl RS clloll wyYcltd
ua 6ol wRll WY Ry ¥OYWS
yeudl. oflAo{l Al 565 oteladell 21
(Qeuswst a2 B ?

(A) AUAQes -3l

(B) oiou - Bcn

(©) laua ~ adl

(D) Aellot - GLeHYA

100.

5 .
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